= |EEA
A |eco
D |5x8 B.

PORT. Berker

Product Environmental Profile
W.1 ECO SCHUKO socket with hinged cover , grey/light grey matt

Company information References covered

47403515; 47393505; 47413515; 47633505; 47703525; 47753525; 47753535; 47803515;
47843515

Berker GmbH & Co. KG

Zum Gunterstal
66440 Blieskastel
www.hagergroup.com

A question concerning the Product Environmental Profile:
infopep@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

PEP ecopassport 1/6

HAGE-01235-V01.01-EN



Reference product

Reference product identification

47403515

Functional unit

Connect/disconnect the plug of a load consuming 16A maximum under a voltage of 250V
while protecting the user from direct contact with live parts, and IP55 and IK08, in the

Household/Commercial application areas, according to the appropriate use scenario, and for
tha rafaranra canvira lifa nf tha nradiict af 2N vaare

Use scenario based on :
PSR product Category : PSR-0005-ed3.1-2023 12 08
Sockets

The functional unit is based on the use scenario recommended by the PCR for the category of
the reference product.

Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of

PEP ecopassport 2/6

marketing.
Plastics Metals Others
o] % o] % o] %
PP 80.38 53.5% Brass 5.71 3.8% Cardboard 26.18 17.4%
SBR 11.76 7.8% Bronze 3.80 2.5% Wood 3.58 2.4%
PAG6 6.09 4.1% Stainless steel 2.80 1.9% Glass 1.74 1.2%
PA66 3.43 2.3% Zamak 2.40 1.6% Melamine cyanurate 0.87 0.6%
PE-LD 0.72 0.5% Copper 0.11 <0.1% Paper 0.13 <0.1%
PC 0.47 0.3% Silicon 0.01 <0.1% Other 0.02 <0.1%
Total m.ass of reference product with raw material 15019 g
packaging :
Total mass of reference product (Product + 143.043 g

packaging)

System Boudaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing Distribution Installation Use End of life Module D
(=)
=
- © %]
(0]
o o c c — 5 = = = = 5
.| & S S 538 3 E I 8 <
@ > =2} o® c < = [ o c c =3 @ O
g5 | § £ ptl Sg 25 8 5 s |[t9 | 29| & |eg| g2 | _ o8
39 5 So c o 5] = c S o 8 5] =] CE| B ]
o B £ 2 S o S o S E 3 = E g E® | 2% 8 52| @ @ 2 E
38| o S S 25 3B 5 S 8 S |80 | 50| T |88 358 S G g
= O < = o = Q35 = o) It =3 =0 20 b 2R =S Q
3 5 = =] = T o S S c x o 7] El=] =5 2 = ° 3 o a2 >
o | £ g 7 g 7§ 52 | & 5 ¢ | Be 32| & |83 |8 | O % o
@ e
Ec g s 0o £3 33 = o x Ss | s a '_2 gﬂ ce
= Q. ) ) %] o)) o s a m o
] < < ES = L o T 0
& 2 =t £S] 2= @ 8 c | o3 5
I = = | EQ S
e w = = D
=
o

B3 B4 B5 B6

Life cycle stages

HAGE-01235-V01.01-EN



Manufacturing Distribution

These products are manufactured by a site that has received an environmental The packaging has been designed in accordance with current regulations.

certification 1ISO 14001. In particular, the European directive 94/62/CE relative to packaging and
packaging waste.

This phase takes into account raw materials, manufacturing processes, production

offcuts and their end-of-life treatment, upstream transport of materials and sub- The used packaging is 100% recyclable or recoverable.
assemblies to the manufacturing site, and transport from the manufacturing site to the Packaging and logistic flows are continuously improved in order to reduce
final logistics platform. their impact.

This phase taken into account the transport of the finished product,
including packaging, to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the the packaging waste treatment is taken into account.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Use

Power loss / load dependent

Power consumption / not load dependent

Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0.00508 30% 0 70% 0 100% 0 0% 0 0%

This corresponds to a total energy consumption of 0.27 kWh for the use span of 20 years.

Energy model of the use phase :
Europe

Consumables and maintenance :
None

End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 66%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.2.2-8 with the database version CODDE® 2024-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

Al1-A3 A4 A5 C1-C4
Europe Europe Europe Europe

PEP ecopassport 3/6 HAGE-01235-V01.01-EN



Environmental impact indicators

: : Manufacturing Distribution Installation Use End Of Life

Indicators Unit AL-A3 Ad AS B1.B7 C1.Ca GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq 3.65E-03 1.64E-04 7.14E-05 4.82E-04 7.67E-04 5.14E-03 -4.37E-03
Climate change - Total (PEF-GWP) kg CO2 eq. 4.72E-01 2.58E-02 3.17E-02 9.41E-02 1.18E-01 7.41E-01 -1.42E-01
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -2.91E-02 0.00E+00 5.97E-03 1.73E-04 7.45E-03 -1.55E-02 -4.57E-03
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 5.01E-01 2.58E-02 2.57E-02 9.39E-02 1.10E-01 7.57E-01 -1.37E-01
g;ﬁ‘é@ﬁﬂ?e’w”d use and land use change | = gq. 8.53E-07 0.00E+00 0.00E+00 0.00E+00 0.00E+00 8.53E-07 0.00E+00
Ecotoxicity, freshwater (PEF-CTUe) 2.55E+02 1.69E-02 3.71E-01 1.78E-01 4.10E-01 2.56E+02 -1.71E+00
EF-particulate Matter (PEF-PM) 2.45E-08 1.33E-09 4.27E-10 3.88E-09 4.95E-09 3.51E-08 -1.24E-08
Eutrophication, freshwater (PEF-Epf) kg P eq. 5.00E-05 9.69E-09 3.52E-07 2.48E-07 7.25E-07 5.13E-05 -3.96E-04
Eutrophication marine (PEF-Epm) kg N eq. 4.29E-04 7.67E-05 3.41E-05 5.87E-05 3.61E-04 9.60E-04 -2.54E-04
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 4.78E-03 8.41E-04 2.12E-04 9.44E-04 1.22E-03 7.99E-03 -3.14E-03
Human toxicity, cancer (PEF-CTUh-c) CTUh 1.45E-07 4.54E-13 2.83E-09 1.18E-11 1.22E-10 1.48E-07 -6.86E-10
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 2.84E-08 8.78E-12 8.28E-11 2.83E-10 3.53E-09 3.23E-08 -4.64E-08
lonising radiation, human health (PEF-IR) kg Bg U235 eq. 4.21E+00 6.29E-05 3.83E-03 1.35E-01 7.62E-03 4.36E+00 -1.65E+00
Land use (PEF-LU) dimensi 1.48E-01 0.00E+00 6.85E-05 2.60E-03 2.17E-01 3.68E-01 -9.63E-01
Ozone depletion (PEF-ODP) kg CFC-11 eq 1.60E-08 3.96E-11 3.29E-10 4.56E-10 1.24E-08 2.92E-08 -5.02E-09
oEr poopy o one formaton=human Realth g of NMvOC eq. JESEREEIZIE 2.12E-04 4.95E-05 1.85E-04 3.41E-04 2.27E-03 -1.00E-03
Resource use, fossils (PEF-ADPf) M 1.13E+01 3.60E-01 2.44E-01 2.38E+00 1.43E+00 1.57E+01 -4.42E+00
Egi‘g”e Wz, EIES E s (FE~ 1.66E-05 1.02E-09 5.98E-10 3.33E-08 2.88E-07 1.69E-05 -1.48E-05
Water use (PEF-WU) 1.84E+00 9.81E-05 1.92E-03 7.21E-03 1.62E+01 1.80E+01 -4.36E+01
Resource use indicators

. . Manufacturing Distribution Installation Use End Of Life

Indicators Unit AL-A3 Al A5 B1-B7 C1-Ca GLOBAL | Module D
Net use of fresh water m?3 4.28E-02 2.28E-06 4.46E-05 1.69E-04 5.28E-01 5.71E-01 -1.04E+00
Total use of primary energy - 1.24E+01 3.61E-01 2.76E-01 3.00E+00 1.53E+00 1.76E+01 -4.65E+00
e SONIENEWERIE PMARIEAEIaY 1.13E+01 3.60E-01 2.44E-01 2.38E+00 1.43E+00 1.57E+01 -4.42E+00
e O CHSHEBIC RMER ENCToy - 1.09E+00 4.81E-04 3.25E-02 6.29E-01 1.01E-01 1.85E+00 2.27E-01
Use of non-renewable primary energy,
excluding non renewable primary energy MJ 8.02E+00 3.60E-01 2.44E-01 2.38E+00 1.43E+00 1.24E+01 -4.42E+00
resources used as raw materials
Use of non-renewable primary energy - 3.32E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.32E+00 0.00E+00
resources as raw materials
Use of non-renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of renewable primary energy, excluding
renewable primary energy resources used as kg 5.46E-01 4.81E-04 3.25E-02 6.29E-01 1.01E-01 1.31E+00 -2.27E-01
raw materials
Sl G (TS GG (GRS CEE as 5.39E-01 0.00E-+00 0.00E-+00 0.00E-+00 0.00E+00 5.39E-01 0.00E+00
raw materials
Use of renewable secondary fuels - 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary materials 3.07E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.07E-02 0.00E+00

PEP ecopassport 4/6 HAGE-01235-V01.01-EN



Waste category indicators

Indicators GLOBAL

A1-A3 A4 A5 C1-C4
Hazardous waste disposed 9.68E-01 0.00E+00 6.26E-04 4.13E-03 -5.40E-04 9.72E-01 -5.67E-16
Non-hazardous waste disposed 1.47E-01 9.07E-04 1.05E-02 1.59E-02 7.14E-03 1.82E-01 -1.13E-15

Radioactive waste disposed 2.05E-05 6.46E-07 1.26E-06 3.65E-06 1.87E-07 2.62E-05 0.00E+00

Manufacturing‘ Distribution Installation | End Of Life |

Output flow indicators

GLOBAL

: Manufacturing Distribution Installation End Of Life
Indicators

Al1l-A3 A4 A5 B1-B7 Ci1-C4
Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 1.20E-03 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.20E-03 0.00E+00

Materials for energy recovery 1.63E-03 0.00E+00 2.11E-03 0.00E+00 0.00E+00 3.74E-03 0.00E+00

Materials for recycling 1.08E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.08E-02 0.00E+00

Biogenic carbon content

Packaging Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01
2.62E-02 1.34E-04 3.58E-03 2.99E-02
7.33E-03 5.07E-05 1.41E-03 8.79E-03
7.33E-03 5.07E-05 1.41E-03 8.79E-03

Source ] ADEME APESA/RECORD EN 16485

Proa ardboard Pape ood

a g 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge arbon content (declared kg of C 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge arbon conte ona kg of C 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

Extrapolation factors are calculated for each phases and indicators by relying on the Life Cycle Assessments of all references covered in this product family. Please
check in the following annex.

Verification

. i Drafting Rules PEP-PCR-ed4-2021 09 06
Registration N°: HAGE-01235-V01.01-EN
Supplemented by PSR-0005-ed3.1-2023 12 08
Verifier accreditation N°:  VH37 Information and reference documents: www.pep-ecopassport.org
Date of issue: 11-2024 Validity period: 5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal ¢ External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Ill environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values
for a product in a concrete application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibilitv of the companv. issuina this document. can never be enaaaed if differences would be noticed between the values aiven bv this document and real ones. whatever the causes and/or conseauences would be.

PEP ecopassport 5/6 HAGE-01235-V01.01-EN



—
0]
=
+J
(@)
0]
3
[92]
=
(0]
1%}
3
n
0]
O
—
3
o
n
Q
(2
-
8}
©
Q.
g
=
©
-
o
0]
£
c
<)
=
>
=
I}

sjany A1epuo9as a|jgemaual u

ABiaua se pasn ABiaua Are

ABiauz pauodx3
K1an02a1 AB1aus 1o} sfeuarey
BuijoAoai 1oy sreusrey
asnal Joj sjusuodwod
pasodsip a)sem aAndeOIpEY
pasodsip aisem snopsezey UoN
pasodsip a)sem snoprezeH
Ja1em ysalj Jo asn 19N
joasn
sjon) A1epuodas a|gemaual Jo asn
ajew AIepuodas Jo asn
ABiaua Arewnd [ejo|

d ajqemaual uou [ejoL

LIalew mes se pasn ABisus Arewnd sjgemsusal uoN

ABiaua se pasn ABiaua Arewnd ajgemaual UoN

ABiaua Arewnd ajgemausal [e1o

Lalew mes se pasn ABisus Arewnd sjgemsuay

d a|gemal
asn pue
J199UBd-UoU ‘A)191X0) UBWNH
J92UBd ‘AN121X0} nH
Jaremysaly ‘A101x03003
yeay uewny ‘uonelpes bu
Jayew arenaed
asn Jarem

S|ISSO} ‘ash 821n0say

S[ejow pue S[eJaulw ‘9sn 99IN0Say

yl[eay uewiny - UONEULIO) SUOZO [eDIWAYI0I0Yd

[elsaua) ‘uonesiydonng
auuew ‘uonesiydonng
J1aremysaly ‘uonesiydonng
uonedyIpy

uonajdap auozo

abueyd asn pue| pue asn puei-abueyd ayewid

|Isso-4-afueyd ayewi|d
\uaboig-abueyd arel

abueys arewd

o|x|a| ~ o e
gl&|g|s|8|8|s|[s|8|8|8|8|8|8|8|8|8|8|8|8|8|8|8|8|8|8|8|8|8|8|8|8|8[8|8|8|8|8|8|8(8|8|8[8|8|8|8|8|8|8|8|8|8|8
B [ I e s PSR TR e e e Y i I = = = = I = = = = = = = I = = = = I = = e I = = I = = =
clelxlalalalslalelaslaslcelalaslelalalelelalalelelaslalelalslelalslalalalelelalslelalaslalelalslelslaslaslaelalslsals
sglals|e|a|le|s|e|a|ls|s|s|es|sg|s|e|le|s|e|le|a|s|=2|&|8|a|&|5|&|s|s|&|s|s|s|s8|e|s|&|&|s|s|&|s|s|&8|s|g|&|c|e|s|&|¢e
B [ = = i o S PSR i s = = o b [ b [ D o b [ [P b i = o [ [ [ = o b I [ b = = = = [ b ) [ = = = = o
slnslalslaelalslulalslslslslslslalslslaslslslslaelslslslslslslaslslislaelslslslslslslalslslslslslislslslslaelslslsls
slelals|a|le|s|v|a|ls|s|c|s|s|cs|s|s|s|a|s|s|c|s|s|s|a|s|s|a|s|s|e|s|s|es|c|s|es|s|s|s|s|a|ls|s|ce|s|s|s|c|s|s|a]|
By o e e o e TR e b e i e Y = = = = = = = = = = = = = = = = = = = = = = e = o = = = = =
slslslslslslslslslslisleslslslcslslslslcslslslcelslslslslslslcslslslicleslslislslslsleslslslslslslslcslslslslslslslsls
slels|s|a|ls|s|s|e|ls|es|a|s|s|e|s|s|s|a|ls|s|a|s|s|e|c|s|s|a|s|s|ce|s|ls|es|c|s|es|s|s|s|s|a|s|s|ce|s|s|s|c|s|s|a]|¢
B = = = = o = = b B S = = = = = = = = = = = = = = = = = = = = O = = e e = I = = = = = = = =
clele|lv|lolalelolslaslalelzlalolelslalclalalcleloslolelelslcelalslelaelalgslcelalalelalalalolalalelaslaslalaelalslsls
Slala|d|&|s |~ |28y |8|s|g|&|a|lr|a|c|lp|a|Ss|a|&|d8|a|&|5|&8|8|s|&|8|lg|d|s8|s|d|s|e|le|e|rR|le|le|S8|8|8|&8|&|8|8|&|S
dle|d|ld|d|d|d]|s|S|d|lalala|q|d|lalala|aldlala]la|s|q|d|a|la]|s|ald|ld|Q|a]|algldladlala|ld|q|c|ala]|alala|lalalalala]a
slelzlslzlelalelalslalslzslalalelslalglalalslelaslalalelslslaslslislelslzlieslslalslglslaslzlaglslslslalgslalelslala
slalals|a|d|z|d|els|a|c|s|g|a|e|z|a|c|lr|a|c|e|la|d8|a|a|s|c|s|s|c|c|s|&|c|s|T|s|c|e|e|ale|le|c|s|g|s|a|la|a|ale
B o e I = IS PN I IO Il e o b T e [ D e [P b = = = = = S IR = = = R = =1 P D~ B e i e e S
clelalslelalslalalslalelalaslcelalalelelalalelelalalelalslelalslelelalgslcelalalnleslslalalalalelaslalelalelslvle
slalg|s|a|s|s|a|als|s|s|es|g|s|e|g|s|e|la|a|s|a|&|d8|a|a|5|&|s|s|&|s|lg|d|s8|g|F|s|e|le|8|ale|&|S|s8|g|S8|a|a|a|a|
B [ T = i b B i e i [ e b [ b [ [P e b [ P b i = = b o P P e b b = b P P B s P e b ) [ b e i
slislalslslalalzlelslalslzslalalelslalelalalslelaslalalelslslaslslislelslzlielslalalalelaslalalslslalslslalalalzls
slslals|cle|ls|=|c|ls|a|c|s|g|a|e|z|a|c|lr|a|c|e|la|d8|a|a|s|c|s|s|c|c|s|&|c|s|vw|Sc|a|a|a|c|s|a|c|a|lg|s|a|s|a|a|s
B = = = IS PSS IN I TN I Pl e e b B e [ b S P = = = = = IS IR R = = N e = = P A [ O
slslslslslslslslslslislslslslcslslslslcslslslcelslslslslslslcslslslclslslislslslsleslslslslslslslcslslslslslslslsls
slels|s|als|s|s|e|ls|es|a|s|s|e|s|s|s|a|ls|s|a|s|s|e|a|s|s|a|s|s|e|s|ls|es|c|s|es|s|s|s|s|a|ls|s|cs|s|s|s|c|s|s|a|¢
B = = = = o e b I S = = = = = = = = = [ = = = = = = = = = I e = = e e e = = = = = = = =
slslslslslslslslslslisleslslslcslslslslcslslslcelslslslslslalcslslslclslslislslslsleslslslslslslsleslslslslslslslsls
slels|s|als|s|s|e|ls|s|a|s|s|e|s|s|s|a|ls|s|a|s|s|e|a|s|s|a|s|s|ce|s|ls|es|e|s|es|s|s|s|s|a|s|s|ce|s|s|s|c|s|s|a]|¢
B = I = = o = = b B S = = = = = = = = = [ = = = = = = = = = = I = = e e = = = = = = = = = =
clelelslalslalclelslalcelslalcelslslalcslslslelslslcaleslslalcelslslelslslslcelslalcelslslslcslslslelslslcslslslslsls
clels|ls|a|l=s|s|=|a|ls|s|c|s|s|c|s|s|s|c|s|s|c|s|s|s|c|s|s|c|s|s|cs|c|ls|es|c|s|s|cs|c|s|s|c|ls|s|ce|c|s|s|c|s|s|c|¢
Bl = = = e N S b e e e = = = = =N = = = o = = = S = = = = = = = = = = = = = = = = = = = =
slelaelzslalalglalzsleslaleslalalalslslaleslalalslalalalsalslslslslelslslslalelelalslalslslialeglslslelalslalslslels
slsla|3|=2|a|s|g|a|es|a|e|ls|g|&|a|z|&|S|la|a|S8|a|&|8|8|&|8|&8|8|8|&8|8|s|d|8|8|a|3|c|s|s|c|a|a|8|a|g|8|8|3|a|a|3
P [ e O S ST INT IS ST B b e s i [ [ P i i PR PV I e P [ i [ e
clelouls|alelslalalslalelzlalalelslalcelalalelelaslalealalsleslaslsleslelslzlelslalzslalslislalslsliel=zlalglalelulala
slslals|zlala|e|2ls|a|e|s|s|e|e|z|a|c|le|a|c|le|la|d|a|a|s|c|s|s|c|c|s|&|c|s|a|Sd|c|a|a|c|la|la|c|a|g|s|a|la|a|ala
B [ i = IS DS IR 0 ST = = o B e [ e P i = = = = = Y PO IR R = = N I = I P = = I s I e
sl zlelgslslalzslzlislslcalcelslslelslslealcslslslelslslcslceslslalcelslslelslslcslelslalcelslslslcslslslelslslcslslslaslsls
sl=ls|s|ae|le|a|a|a|ls|s|c|s|s|a|s|s|s|c|s|s|c|s|s|s|c|s|s|a|s|s|cs|c|s|es|c|s|s|cs|s|s|s|c|ls|s|cs|s|s|s|c|s|s|c|¢
B [ = e b Y N b = = = = = = = = = = [ e = e S = = = = = = = = = = = = = = = = = = = = =
slalelzslalealalelelslaleslalalalslslalslalalsialalalsalslslslslelslslslalelelalslalslslalslislslalaleslaleglalals
glald|3|]|8|B|s|dls|8|8|s|g|&|a|z|&|S|lp|a|S8|2|&|8|8|&|8|&8|8|8|&8|8|s|d|8|8|v|3|c|3|a|c|a|a|8|3|g|8|a|3|s|a|3
P e e O P A ST SN T B e [ [ P i i PR NPV I e P [ [ e
cslslelalelalaglalzslslalelzlalalelslalelalalelelaslalalalsleslaslslslelslzlcelslglalalelclalalalesleslalaglalalglalx
clald|lg|ald|a|a|sdfls|s|c|s|g|&|ae|lz|a|c|lk|a|cle|la|d|a|a|s|c|s|s|c|s|s|&|c|s|n|S|c|a|a|c|s|a|c|e|]|S|a|a|a|nle
B - B = P A ST AT (TN = = b B o e [N b B AT B = = = = = SO I R = = I e = = P e e ) A e
cslalslslzslalclcslelslslelslslelslslealcslslslelslslcslceslslalcelslslceleslslcslelslalelslslslcslslslelslslcslslslaslsls
slslals|e|le|d|=a|a|ls|s|e|s|s|a|s|s|s|e|ls|s|a|s|s|e|e|s|s|a|s|s|s|c|ls|es|e|s|s|cs|s|s|s|c|ls|s|e|cs|s|s|c|s|s|c|¢
Bl [ e e Y ISR I = = = = = = = = = = [ e = = = = = = = = = = = = = = = = = e = = I = = =
slelelelslalelzslagleslaleslalalalsglslaleslalaleslalalalsalslslslslelslslslaleleslglaelalelsialalelslalalaslelalslals
slalg|g|s|g|s |3 |a|ls|8|8|s|g|&|a|z|&|S|lp|a|S8|2|&|8|8|&|8|8|8|s|&8|8|s|d|8|s|B|&|lc|8|a|a|l&|a|S8|2|]|8|a|&|& |68
B (P T N S T S S e I [ [ P i i PR PV e P e [ s ) PN R i
cslxslalslelaelzslslelslslelslsleslalslaslelalalelelaslalalalsleslaslslslelslzlelslalalalelclalslalelalalelalalalsls
slalg|3|a|e|z|s|a|ls|s|c|s|s|c|s|es|s|e|le|=|c|e|la|d8|a|a|s|c|s|s|c|c|s|&|c|s|v|S|c|a|a|c|zs|a|c|o|a|2|a|s|c|als
B - = b e DN RS = = = = = = = = = [ D e i P i = = = = = IO IR R = = I e = = i e DSV N e I s
slalalslslalglelslslaleslalalalsglslaleslalalsialalalsalslslslslelslslslaleleslalaleslalglslalslslnleslslalalalals
glalg|s|s|g|8|a|a|ls|8|8|s|8|&|a|z|&|S|lb|a|S8|2|&|8|8|&|8|&8|8|8|&8|8|s|d|8|s|8|&5|8|&|&|8|8|&|S|~K|8|8|a|&|&8 |38
Bl e i o S i e b s PR s e [ P b s O s e I S IR = i T = = N S s S (VI S s s S
oclzlslgslelalglelelslalelzslalalelslalelalalelelaslalealalslelalslalelslzlcelslelzlalslalelslslelalalalalalalalsa
clafls|s|eles|s|R|e|ls|a|c|s|g|a|e|lz|a|c|l|a|c|e|la|d|a|a|s|c|s|s|c|s|s|g|c|s|s|c|a|a|a|c|zs|a|c|d|lg|c|a|a|a|a|s
dlad|dld|Q|d|Q|a|lQ|d|a]lala|lq|dfafalalaldlald]ala|lq|d|afa]alald|ld||a]aladldla|alalald|l«|a]lalala|afla]la]alaa]4
slalsleslalaglalelaglslalelalalaleglslaleslalaleslalalalalslslslslelslslslalelelalaelalelalalalelslaleslslelelslzls
gl=lg|s8|a|a|s|2|a|ls|8|8|3|8|&|a|z|&|S|b|S|S8|3|&|8|8|&|8|8|8|8|&8|8|8|d|8|8|rR|&8|c|s|&|a|2|5|8|5|8|8|3|& |5 |33
B e i o N i o e I b e TR s e [ D P i i i i b PR PV Y o e I P e S e e [
clelalglalelelslalslalelzlalalelslalclalalelelaslalelalslelalslalelslzlelslslialalalslalalslicelslalaslalelslvla
clslels|aele|s|s|a|ls|a|c|s|g|&|e|z|a|c|l|a|c|le|la|d|a|a|s|c|s|s|c|s|ls|g|s|s|d|&c|a|a|a|ala|la|c|c|g|c|a|la|a|ale
Bl [ e e N i Y = = ST T = e D e i A i = e = = PR PV = I e [ e = [
sleslelslglalalglgleslalelalalalelslaleslalaleslalalalalslslslslelslslslalelelaelslalslsialalelsalalalslelslsls
glelg|g|a|sd|s |8 |als|8|8|3|8|&|a|z|&|S8|b|S|S8|3|&|8|8|&|8|8|8|8|&8|8|8|d|8|8|F|3|c|3|s|8|&|s|8|a|8|8|a|&|8|5|5
B (PO I P P DR PO e e i [ P i i i b P PV O e P I DSV e I P
oslslalslelalalzlelslalelzslalalelslalelalalelelaslalelalslelalslelelslzlelslgslialalslalzlaslslcelalasleslalalalalsa
slslals|ele|ls|=|e|ls|a|c|s|g|a|e|z|a|c|l|a|c|le|la|d|a|a|s|c|s|s|c|s|s|d|c|s|g|S|c|a|a|S|la|a|c|as|lg|c|a|a|a|a|s
dlal|dl|ld|Q|d|Q|Gd|Q|d|a]lalalq|dfafalalaldlald]ala|lq|d|dfa]alald|ld||a]aladldla]alalald|l«|a]lalala|afla]a]alaa]4
slelelzslalelslgleleslalelalalaleglslaleslalaleslalalalalslslslslelslslslalelelalslalslslalslizslslzslalslalelalals
glela|3|=|a|n|&|a|s|8|8|s|8|&|a|z|&|S||s|S8|3|&|8|8|&|8|8|8|8|&8|8|8|d|8|8|v|3|c|3|s|c|a|a|8|3|g|8|8|3|8|a|3
R [ e O S I TR 0 N ST = I o i [ [ P i i b o P PV I e P [ [ e
slglelalnlnlnldlsleslaleslalalalelslslelaleleslealalalslslslslslelslslslslglglalalslelalglslelslelslslalalale]s
glalglg|s|s|8|g|s|s|8|8|s|g|&|a|z|&|S||a 8|38 |8 |8|8|8|8|8|8|8|&8|8|8|8|8|4|8 Elels|S|R|IS|IR|S|IS|&8|&[3|%|8
B I I I PN P NN = (P e b e TR s i [ D P i i i P PV O e i A Y AV s s [
slglelaelslalelslelslaleslalalaleglslaleslalaleslalalalalslslslslelslslslalelelslslalelsialeglelslalalslslelslals
glalag|s|d|d|g |3 |8|ls|8|8|s|g|&|a|z|&|S8|b|s|S8|3|&|8|8|&|8|8|8|8|&8|8|8|d|8|8|a|3|c|8|s|8|c|s|8|a|8|8|a|&|& |55
P e e O PN A TR N I e TR s [ D P i i i PR PV I e P DSV [
clglolalelalalelnlslalelzslalalelslalelalalelelaslalelalslelalslealelslzlelslnlalalelclalslolelglaleslnlelaslals
sleld|s|a|la|s|s|sls|a|s|s|g|&|a|lz|a|c|lp|a|c|le|la|d|a|a|s|c|s|s|s|s|ls|&|s|s|q|&|c|e|a|c|la|la|c|a|lg|s|a|la|a vl
dla|d|d|c|cd|d|d|q|d|alalalq|dfaflalalaldlald]lala|lq|d|dfa]alald|ld|c|a]aladldlalalalaldl«|a]lalala|afla]a]ala4]4
slaleslelalelels ialslaleslaslalalelslalslalaleslealealalalzlslslslelslslslzlslelslalalslielslalslslelalslslelslals
sleflale|a|g|s|e|dfls|a|c|s|g|a|e|g|a|c|lr|a|c|e|la|8|a|a|s|c|s|s|c|c|s|&|c|s|a|a|a|a|a|c|le|la|c|d|g|s|a|a|a|a|a
B e e P AV TR N I e TR s [ D P i i e = b o P PV P P I A [
clalalglalelalalalslalelzlalalelslalclalalelelaslalelalslelalslelelslzgslcelalclelalslalalnlslclelgslalalaelalale
clelgls|ale|g|a|als|a|c|s|g|&|a|lz|a|c|lb|a|S|le|ls|d|a|a|s|s|8|s|&|&|ls|g|s|e|R|c|S|s|a|d&|la|a|s|R|g|s|a|a|a |3
B (PO =T i e o = e b P b v [ [ [ e b (P b i = = = B = = IS IS T = = I S = o I e AV [ e
slalelelslelelglslslaleslaslalalelslalslalaleslealealalalzglslslslelslslslzlalelsgslaelalelelalelglslalesleslalaelaslals
Slelgs|le|als|e|e|als|a|c|S|g|a|a|g|a|c|r|a|c|e|la|8|a|a|s|c|s|s|c|c|s|&|c|s|a|c|a|a|a|a|rR|a|c|e|ls|s|a|a|a|k|e
B e e O PN ST i I b e b b e [ b P b s = = = = S IR R = = = I S R SO s s
clolalslalalalalalslalelzlalalelslalclalalelelaslalelalslelalslealelaslgslelaslalzgslalalslalslsliclaelalzglvlslalvle
s lals|ale|d|a|als|a|c|s|g|&|e|z|a|c|lp|a|s|le|e|d|a|a|s|s|8|s|&|&|ls|d|s|s|d|S|c|a|a|c|la|la|c|c|lg|E|a|a|a| Rl
dle|d|ld|c|cd|es|d|q|d|lalala|lq|d|laflala|aldlala]la|a|q|d|afla]|a|lald|ld|w|a]|algldld]alalaldl«|a]lalalalala]la]a]aa]4
clolalalalalglglalalalelalalelalalalalalalalalalalalalalelalalaelalalalalalalelalalalalalalelalalalalalalelse
sisle|s|els|g|2|els|eslels|ls|e|s|s|es|als|s|e|s|s|e|a|ls|e|e|s|s|ce|a|ls|es|c|s|e|ce|s|s|s|a|s|s|e|s|s|s|s|s|s|2]|¢
B (I v I e e = N = e b e o = N I = = = = I = = = = = = = = = = = = = I I =
slalaelglslslelglzlslalslslalalelslalslalaleslalalalalzglslslsleslslslslzlslslelaelelelelalslelslelaslalslslalals
Slelale|dlals|eldls|a|e|a|e|e|e|z|a|c|a|a|c|e|le|d|a|la|s|c|s|s|s|c|s|&|c|s|s|e|c|a|a|c|s|a|S]|< glala|c|a|a
B s e i S AV NN IS ST I b b TR s D P i i e = b o P PV I P S I 0 e P s
clalolalslulalalslslalelaslaslelalslalelalalelelaslalelalslelalslealelslzslcelaslglvelalslalcslelalelnlalelslnlgloln
sleld|g|s|e|a|s|s|ls|s|s|es|ls|s|e|le|s|e|le|=|s|le|la|d|a|a|s|c|s|s|&s|&|ls|g|c|e|a|c|e|a|a|S|IR|a|S|a|lg|8|a|la|a|R |
dld|d|s|c|d||Q|Q|d|alalalalalalalalaldlala]lala|lq|d|afla]|alald|ld|c|d]|aladldld]alald|q|a|ala]alalala]la]alalala
slelalal=lelslzl=lslslslzleleleglslslslalalslalalalalalslslslelslslelaslelelelelaelelalelaslalslelslalalslalgls
gleld|s|a|s|s|3|a|s|8|8|3|g|&8|a|z|&|S8|b|S 8|38 |8|8|8|8|8|8|8|8|8|s8|3|8|8|]|8|8|&|8|8[&|8|8|% gl3|s|&|3|8
B s e S VI NN IS ST I b e R s e D P i i e = b P P I e P I e B P s
nuiuuvjujvuiviviviIivuILbLILILIvVILLILIDIVIVIIVIVILIVIVIVIIVIVITVITLIVIVIIVIVIVIIVIVLIVILIVIVILILILILOLILIWLIWL]IW W ]W
FHlo|ld]|lolN|N|IO|d|ld|d|Od]OIN|IND A |A | A O |O N |N|M || T |lO|d|O|N|N|™M | A |FA O |Hd]|O N |N|M || T |lO|d]|O|N N |™M | —
LiuvjujuivjiviviuIvILLILILILvVLIvLILILIvVIVILILVIVITLIIVIVIIIVITITLIIVIVIVIVIVIILIVIIILILVLILILILILILIWLIWL]IWO W ]|W
Mool ooooolomolomooooolololoooolo Mmoo ololooololololomoo|lololoolololo|ololmomo|o|lm
OSlo|ld|m|olviv]|io|d|Q|lo|d|0|olv|iv]io|dS|IC|lo|d|0|co|lLv|v]IO|IS|IQ|lo|dl0|olvivIC|S|Q|lo|d|0]|lolviv]|io|ld|Q9|l|d|®|IOo|lLv]|Lv]|O|S
|l |lo|~|IMIMN|O |00 |OoININ|O|O IS |O|S|O]|~ Il NG Bl sl N L N el A BN ~NlOo|lolSs || |Oo |~ Il NG Bl el N B N R AN N N~ | |
~NINIsIsIsIsINININININISIsINININISININSININIcINININISINININISISINININISISININISISINININISISININISISININSINIS]S
I IR T (v I I (v (v KT [ (Ve IR T (vl [ I v [ I v [ I e (v [ I R (v IR v (v I IET [ [ I [ [ I I [ [ T [ [ I T (v I I [V [ T
d 3InpoN
Buumoenue uopnquisia uone|jesul asn ajl| Jo pug

HAGE-01235-V01.01-EN

6/6

PEP ecopassport



